LernPunkt Nachhilfeinstitut M.Mechora-Kriiger & M. Kriiger GbR

Wurzeln - W4 (Multiplizieren)

Vereinfache!

1) -2~/5(=/5 + /6)

3) V15(v10 + A/2)

5) 3v2(v/2 + 2)

7) (\/g+ \/5)2

9) (4/5 - 1)3/5 +3)

|88 (1 + Sx/g)(i + \[5—)

13) V/3(2 + V/3x)

15) V6(-4~2n + \/3n)

17) V3p(5p% + \3)

19) (5 - 4/3a)(5 +5/3)

21y (/5 +3)(~/5v —3)

23) (432 + 455 )22 = 31/2)

Name Datum

2) -2+/10(+/3 + /10)

4) \/5(~/3 =2+10)

6) —\/15(2 + V/10)

8) (23 + V5)(5+/3 + V1)

10) (4v/5 = 5)(-~/5 +2)

12) (3\/5+ \/g)(\/g+ \/5)

14) —2+/6(2 - 5+/27)

16) -3/15(5 + V/10)

18) +/5x(2x+ 3+/3x)

20) (2+2 = 3)(=5+/2 +3)

22) (\/56 +2)(5+/56 + 4)

24) (51 + V3)(\5n - /3)



